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Master of Arts (ILconomics) 3 Semester
(2123)
Opt. (v) ECONOMETRICS—I

Paper—MAECO-303 & 304 (In all Mediums)

Time Allowed : Three Hours] [Maximum Marks : 80

Note :— Attempt any ten out of fifteeen questions of 2 marks
each from first compulsory question. From each Unit at-
tempt any one out of the fwo questions of 15 marks each.
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(b) Interpret :
NGDP, = 127.35 + 1.06 M, ., - 0.92 FP_, + ¢,
(3.75) (5.55) (—0.71) t ratios,
R? 047, n = 42
NGDP is the change in nominal GDP
M, is the change in the M, money supply
FP is the change in standardised federal budget deficit.
(¢) Discuss F test.
(d) What is the assumption of normality of error term ?
(¢) Differentiate between Pooled and Panel data.
(f) Discuss Durbin-Watson d statistic.
(20 Why do we add error term in regression model ?
(h) State 2 assumptions of linear regression model.
(1)  Distinguish between autocorrelation and correlation.
() What do you mean by measurement error in independent
variable ?
(k) Estimate 3 for the regression equation Y = X + u
(1) Discuss RAMSEY RESET test.
(m) Regress the following regression equation :
log (M) = B, *+ B,log(GDP) + B,RS, + B log(PR) + u,
using E Views command.
(n) What are the major components of ANOVA table provided
in SPSS ?
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(0) Adding the variable to a regression equation decreases

adj. R? from 0.73 to 0.72 but increases R? from 0.74 to
can go down
10x2=20

75. Explain how it is possible that adj. R’
at the same time that R* goes up.
UNIT—I
State and prove Gauss Markov theorem of OLS estimates.
2+13=15
Define and derive MLE for the regression parameters in the
linear regression model. 15
UNITI
Iﬁm&cmmﬂﬂnmfmdﬁwﬁngﬂlepoblan
of multicollinearity. 5+10~15
Explain and compare the tests of heteroscedasticity. Suggest
corrective procedure for the same. 8+7=15
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9. The following output table is given on an econometric mode|

estimation :

Source | 88 df MS Number of oha = 20
___________ B e e e - Tl 3 16) = 29.16
Model | 1538.92019 3 512.9723396 Prop > F = 0.0000
Residual | 2B1.505287 16 17.5940801 R-scquaresd « 0.8454
s e i e e - - Adj R=squared = 0.8164
Totadd ! 1823.4284%8 19 DB5.811967)1 Raot MBE w 4.194%5
(a) income | Coef Std, Errx. t Prjt| [95% Conf. Interval)
educ | 1,981124 .3231024 6.13 0.000 1,.296178 2.66607
jobexp | . 6419622 +1811106 3.54 0.003 .2580248 1.,025%9
race | +» 227079382 2,871949 0D.20 0.845 ~5.5174466 6.653052
cons | ~7.863763 5.369166 -1.486 0.162 -19.24589 3.518362

{obyw2Z0)

Variable Mean Scd. Dev. Min Max

——————— R (s o e TSNS en e o e e e v W S S e e e o i

income § 24.415 9.788354 5 48.3

educ | 12.05 4.477723 z 21

jobexp 1 12.68 5.460625 1 21

race 1 =S .5129892 0 1
(b) t income aduc Jobexp race
e e - ———r - - - —

income | 1.0000

educ | 0.8457 1.0000
jobexp I 0.2677 -0.1062 1.0000
rate | -0.5676 -0D.7447 0.2161 1.0000

Variable | i VIF 1/VIiF
race | 2.34 0.426622

2.26 0.442403
1.06 G.946761

(C) 3 o;;e;; 1

T — o —

Mean Vv - '1.89
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a i M4 Mumber of oha = 20
Scurce | os : R, : Fi( 3, 16) = 29.16
! g g & 196 Prob > F - 0.0000
wedel | 1838.92019 5 812.973%% g
1 & &ARA 9. 4940804 R-aquarad = 0.8454
rResidual | 5R1,.508287 éﬁ 37 e Add Redqestid & 5 6164
el 7 1823.42518 19 95.82119671 Raot. HMSE ¥ 4.194%
(‘1) \;.;gn | : "};;i: “.;;;. Err. t P>it) [95% Conf. Interval)
RN T T 0 1.296178 2.66607
juc | 1,981124 .3231024 6.13 0.00 : ’
wn;;:r | . 6410622 ,1811106 3.54 0.003 .2580248 1.0259%
eace || JAI07931  2.8%1i9 0.20 0.845  ~-5.517466  6.659052
conas | ~7.863763 5.369166 -1.46 0.162 -19.24589 3.518362
(Dibe=20)
vVariable | Mean Std. Dev. Min Max
__________ T i e
income | 24.415 9.78835%54 - 48.3
educ | 12-0S 4.477723 F4 23
jobexp | 12,658 5.4608625 1 21
(b) race | -8 .5129892 0 1
{ income aduc jobexp race
_____ ...--------Qv——————_-‘———-—-——-—‘---——-.._---.._..__.___
inccma | 1.9000
educ | 0.8457 0 1.0000
jobexp I 0.2677 =-0.1069 1.0000
cace | -0.567¢ ~C.7447 a.2161 1.0000
Variable | i VIF 1/VIF
o o e e o o e e T T o S
race | 2.34 0.426622
(C) : educ | 2.26 0.442403
jobexp ! 1.06 C.946761
e e e e e o e e i e e a0 o e e o e o

Mean VIE | 1.89
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(GDP) + B,RS, + B,log(PR) + u.
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Mumber of obs = 20
Scurce | 88 dar M8 < Pt 3 16) = 2%.16
__________ ushRibhpanslensiadamisansatt o prob > F = 0.0000
Model | 1538.92019 3 532.973ﬂg: p-aquarsd - 0.8484
pesidual | 261.508287 16 17.99408 Ady R-squared = 0.8164
ks ah R b e n ALLLURE RESSTIT SOy Aor MSE * 4.19
reral | 1823.472818 19 085.8119671 i o
T e kb et~ AR 95% Conf. Intery
() e i Dl
wnawenantahasaanan s b spuaB tECE AT oy L296178 2.66607
educ | 1,981124 .32310214 6.13 0,000 1 y i g
3.54 0.003 .258024 L0259
Joboxp | . 6919622  ,1B11106 J 7466 6.63
hipb 5 o 0.845 «5,51 .659052
race | ,5707931 2.8719049 0.2 Z19.24589 3. 518963
_cons | ~7.863763  5.369166 wi, 48 0.164 . . |
(abhew-20)
variable | Mean std. Dev. Min M
_____________ '.__w"_________'_______,,_______._....-,_.«.-—-—---—‘——-—-—-—--‘ﬂ*'—————_.ﬁ
income | 24.415 9.788B354 5 ! 48.3
educ | 12.08 4.477723 2 21
jobexp | 12.865 5.460625 1 21
(b) race | isi . .5129852 o 1
b } :
1 income aduc jobexp race
___________ B e e e e
incema | 1.0000 g :
educ | 0.8457 . 1.0000
jobexp I 0.2677 =-0.1069 1.0000
race | -0.567¢ ~C.7447 0.2161 1.0000
Variable | 2 VIF 1/VIF
race i 2.34 0.426622
ﬁﬂ i i educ | '2.26 0.442403
jobexp | 1.06 G.946761

. . o ot R s 1 o . i {1 O — o . o

Meanr VIFE |




